DEFINITE INTEGRALS INVOLVING TRIGONOMETRIC FUNCTIONS

1 Sketch the graph of f(x) =1 = cosx, 0 < x < 7. Evaluate J f(x)dx and indicate on the sketch the area
0

represented by this integral. What is the exact value of this area?

L4

A ™ e e amm s = e ow e

Section‘7 -Page 1 0of 4
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2 Evaluate: (@ J‘: sinxdx (b) If sec” xdx (c) L: cos% dx (d) J‘: cosxdx
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DEFINITE INTEGRALS INVOLVING TRIGONOMETRIC FUNCTIONS

10 Find the points of intersection of the curves y = sin @ and y = cos 8 for 0 < 8 < 2 and calculate the area
between the two curves.
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